Quick crossword

Across
1 Junkies (7)
8 Century (7)
9 Amusement park (7)
10 Moving by slow
degrees (7)
11 Steadfast in allegiance
)
13 Workforce (9)
15 Frequency (9)
18 Primary (5)
21 Stripe (7)
22 Indian city, formerly
called Madras (7)
23 Gin cocktail (7)
24 Eat loam (anag) (7)

Down

1 Terrible (5)

2 Fop (5)

3 Naturalist on HMS
Beagle (7,6)

4 Small edible crustacean

(6)

5 Indirect result (5-2,6) 19 Cooking stove (5) Solution no 13,669
6 Solid carbon dioxide 20 Hearing — test (5) [GIRIAIDIUTAILLY I PIHN]
3.3) EHEEEN
7 Proverbs (6) Il] [S[PAIT]
12 Without concealment |ARIE] Al
4) Ii]lmlll IIIEI
N [E N
14 Do they justify the lnllmm llllm
means? (4) WHNSHN | [G/ER]
15 Earnings (6) %ﬂﬁﬂl%mmmhlm
16 Bottoms up! (6) [SIUCHIMS]

17 Papal ambassador (6) IIEIEIIIIIIEI



